
1

2

3

6

7

9

8

45

10

14

15

16

17

19 20 21 22

23

18

11

12

13

PORTABLE TRANS-O-FILTER

 DESCRIPTION PART NO.
77-0586-1
99-0101

99-0102

33-0359

33-0378

33-0303

33-0309

33-0319

79-0901-1

22-0630

11-0372
11-0140
11-0105

33-0370

     –

33-0802

33-0371

33-0307

33-0304

44-0403
44-0403A
44-0420

33-1191

33-0303

11-0419
11-0322
11-0121
11-0107

33-1215

11-0375
11-0126
11-0105

22-0417

22-0415

66-1419

66-1197C

PARTS LIST
P-6800C
AUG. 1997

ITEM
Portable Base

Pressure Gauge, 0-60 psi

Gauge Snubber

Petcock , ¼" NPT - Brass

Street Elbow, ¼" NPT

Close Nipple, ½" NPT

Reducing Tee, ½" x ¼" x ½"

Reducing Bushing, 1" x ½"

Filter Chamber (Refer to Parts List P-3976)

Hose Assembly, ½" x 24"

Bolt, 3/8"-16 x 1¼" hex head - stainless steel  (2 req'd)
Lock Washer, 3/8" - stainless steel  (2 req'd)
Nut, 3/8"-16 hex head - stainless steel  (2 req'd)

Union, ½" NPT

Nipple, ½" NPT (Order by length)

Strainer, ½" NPT (30 mesh)

Nipple, ½" NPT x 2"

Elbow, 90° - ½"  NPT

Nipple, ½" NPT x 4"

Pump & Motor Assy. TS6-6 GPM ½ HP (See Parts List P-3300)
Pump only
Motor only, ½ HP, 115-230V/1/60,  TEFC,  1725 RPM

Reducing  Coupling, ¾" x ½"

Close Nipple, ½" NPT

Bolt, ¼"-20 x ¾" hex head- stainless steel  (4 req'd)
Lock Washer, ¼" - stainless steel  (4 req'd)
Flat Washer, ¼" - stainless steel  (4 req'd)
Hex Nut — ¼"- 20 - stainless steel  (4 req'd)

Pipe Plug, ½"  NPT

Bolt , 3/8"-16 x 1"  hex head - stainless steel  (4 req'd)
Flat Washer, 3/8" - stainless steel  (8 req'd)
Nut , 3/8"-16 hex head - stainless steel  (4 req'd)

Suction Hose, ¾" x 10 ft. long (not shown)

Discharge Hose, ½" x 10 ft. long (not shown)

Pressure switch (not shown)

Motor starter, manual magnetic push-button (SPB4) (not shown)

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

MODEL
S1(718) ½B-TS6-P-SPB4-PS

PRICE CODE NUMBER
1405B

Refer to Bulletin O-104, Operation and Service
Guide O-200 and Master Price List F-800.

Tomasz
Highlight
change to
/  1  /  Portable Base                            /  77-0586-1  / 
/      /       Opt. Coalescing Chamber  /  77-0586-2   /


Tomasz
Highlight

Tomasz
Highlight



PORTABLE TRANS-O-FILTER

S2(718) 1B-TS9-P-SPB4-PS

PRICE CODE NUMBERMODEL

S-1405B2

PART NO. DESCRIPTION
77-1525-1
99-0101

99-0102

33-0359

33-0378

33-0318

33-1197

33-0512
79-0901-2

22-0519A
11-0372
11-0140
11-0105

33-0341

      –

33-0804

33-0329

33-0343
33-0334
44-0608
44-0073
44-0409

33-1204

33-0335
11-0419
11-0322
11-0121
11-0107

33-1190
11-0375
11-0126
11-0105

22-0416

22-0416

66-1419

66-1197C

Portable base

Pressure gauge, 0-60 psi

Gauge snubber

Petcock, ¼" NPT - Brass

Street elbow, ¼" NPT

Close nipple , 1" NPT

Reducing tee, 1" x ¼" x 1"

Reducing bushing, 1½" x 1"

Filter chamber (Refer to Parts List P-3976)

Hose assembly, 1" x 24"
Bolt , 3/8"-16 x 1¼" hex head - stainless steel (2 req'd)
Lock Washer, 3/8" - stainless steel (2 req'd)
Nut, 3/8" - 16 hex head - stainless steel (2 req'd)

Union, 1" NPT

Nipple, 1" NPT (Order by length)

Strainer, 1" NPT (30 mesh)

Nipple, 1"  NPT x 2" long

Elbow , 90° - 1" NPT

Nipple 1" NPT x 3" long
Pump & Motor Assy TS 9 - 9 GPM 1 HP (See Parts List P-6300)
Pump only
Motor only, 1 HP, 115-230V/1/60, TEFC, 1725 RPM

Coupling, 1" NPT

Nipple, 1" NPT x 4" long
Bolt, ¼"-20 x ¾" hex head - stainless steel  (4 req'd)
Lock Washer, ¼" - stainless steel  (4 req'd)
Flat Washer, ¼" - stainless steel  (4 req'd)
Hex Nut, ¼"-20 - stainless steel  (4 req'd)

Pipe Plug, ¾" NPT
Bolt, 3/8"-16 x 1"   hex head - stainless steel (4 req'd)
Flat Washer, 3/8" - stainless steel (8 req'd)
Nut,3/8" - 16 hex head - stainless steel (4 req'd)

Suction hose, hydraulic 1" x 10 ft.  (Not shown)

Discharge hose, hydraulic, 1" x 10 ft.  (Not shown)

Pressure switch (Not shown)

Motor starter, manual magnetic push-button (SPB4) (Not shown)

1

2

3

4

5

6

7

8

9

10
11

12

13

14

15

16

17
18

19

20
21

22
23

24

25

26

27

 ITEM

1

2

3

6

7

9

8

45

10

14

15

16

17

19 20 21 22

23

18

11

12

13

P-6800C
Page 2

Refer to Bulletin O-104, Operation and Service
Guide O-200 and Master Price List F-800.

WESTERN

●

Minimum order $25.00F.O.B. Northbrook, Illinois Terms: Net 30 Days

®

1777 Shermer Road
Northbrook, IL 60062-5360 U.S.A.
Email: sales@serfilco.com

847-559-1777
800-323-5431

FAX: 847-559-1995
Web: http://www.serfilco.com

13721 Alma Avenue
Gardena, CA 90249-2513

310-532-0801
FAX: 310-532-0866

DISTRIBUTED BY

Tomasz
Highlight
was
77-1525

Tomasz
Highlight
was
33-0460

Tomasz
Highlight
was 36"

Tomasz
Highlight
was 1/2" NPT

Tomasz
Highlight
was
33-0343

Tomasz
Highlight
change to
/  1  /  Portable Base                            /  77-1525-1  / 
/      /       Opt. Coalescing Chamber  /  77-1525-2   /


Tomasz
Highlight



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




